Trig Identities
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Trig Identities for AQA Core 4
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Must be learned





Come from dividing through (2) by either sin2 or cos2. 





On Formula Sheet





Come from putting A=B into (1), (2) and (3)





Come from (4) and (5) replacing either:


sin2 = 1-cos2 (7)   or   cos2 = 1-sin2 (8)





Come from putting B=2A into (1), (2) and (3)











_1474117323.unknown

_1474117405.unknown

_1474117431.unknown

_1511083279.unknown

_1513588535.unknown

_1474117627.unknown

_1474117410.unknown

_1474117365.unknown

_1474117375.unknown

_1474117328.unknown

_1474117294.unknown

_1474117304.unknown

_1474117317.unknown

_1474117299.unknown

_1474117285.unknown

_1474117290.unknown

_1474117262.unknown

_1474117276.unknown

